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.97 &9 BY Q@ @, e Prafafea sqvt ot argds 1 o

1. All questions are compulsory. All gquestions carry equal mark.
ot we sifard &1 wft wet @ @ T

2. Before answering the guestions, the candidates should ensure that they have been supplied complete
question booklets. Complaints, if any, regarding misprinting etc. will not be entertained 15 minutes after the
start of test. :
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3. In case there is any discrepancy in any question(s) in the Question Booklet, the same may be brought to the
notice of the Controller of Examinations in writing within two hours after the test is over. No such complaint(s)
will be entertained thereafter.
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be registered against him/her, in addition to lodging of an FIR with the police. Further the answer-sheet of
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will be treated as wrong answer.
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1. Who is known as the father of computers ?
(1) Herman Hollerith (2) Grace Hoppers
(3) Charles Babbage (4) Newton
............... B HEYER BT KA AT ST 2
(1) Herman Hollerith (2) Grace Hoppers

(3) Charles Babbage (4) Newton

2. The main advantage of magnetic core memory over semiconductor RAM is :
(1) more compact and smalier
(2) more economical
(3) more compact & large
(4) more volatile
FAfes HR A &1 AT RAM & SR & a™ 2
(1) s Hidae 3R Brer
(2) s e
(3) s e ik g
(4) o e

3. Unsolicited commercial e-mail is commonly known as :

(1) junk (2) hoaxes

(3) spam (4) hypertext
JaifBa (unsolicited) @A A® $-Hel AHFIA: HAT @l 2
(1) 5% (2) &

(3) @ (4) BEURCHRE
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4. Which of the following refers to transfer of a file from your computer to a remote

computer ?
(1) FTP (2) Uploading
(3) Downloading (4) Telent
frferad # | a1, U File ®1 (& 7ex ¥ [l e $7°er W o @1 & wed i
yanT faar o 2
(1) FTP (2) Uploading
(3) Downloading (4) Telent
| Tp— are used to connect two dissimilar LANS.
(1) Bridges (2) Gateways
(3) Router (4) All of the above

............. o a1 fAf=1 LANS & oire & forg wanT fasan wiram 2
(1) Bridges (2) Gateways
(3) Router (4) ST o)

6. Find one number from the given choices which can fill both blanks :

div 027 ?

—

2 003
(1) 9.00 (2) 0.009 (3) 0.90 (4) 0.09
A T Rewl § d WO we g o A Raw Wl & w99

027 ?
? 003

1) 9.00 2) 0.009 (3) 090 @) 0.09
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7. Simplify the following :

(1) 34 (2) -49 (3) 13
1 &1 wve
7+15+5x4-6="?
(1) %4 (2) -49 3) 13
8. Complete the series :

3,9, 18,4, 12,16, 5. 1 . i
(1) 19 (2) 20 (3) 6
G B R BN

3,9,13,4,12,16,5,15 ............ .
(1) 19 (2) 20 (3) 6

9. Complete the analogy :

Newspaper : Press : : Cloth : ?

(1) Tailor
(3) Mill

G B G B

RiRICICE TR EI D I A N

1) woft

(3) ®REEI

CJDEOT-2012/SET-Z/(B)
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(2) Fibre

(4) Cotton

(2) arm

(4) duE

4) 1

4) 1

(4) 45

(4) 45
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10. Choose the analogous to

Hen : Chicken
(1) Lion : Lioness (2) Lamb : Sheep
(3) Butterfly : Caterpillar (4) Ostrich : Bird
wed g
o g
(1) ¥ : oA (2) F% A
(3) foreeh - g (4) 3ifga : geh
11. Who was the first woman to be the Union Minister in India ?
(1) Sarojini Naidu (2) Sucheta Kriplani
(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
ARA A B%1F T 97 aren 9yH Aieen A o ?
(1) wAf ArEg (2) gaar puerh
(3) favra @t dfea (4) TAFAR T B
12. When do we observe National Youth Day ?
(1) May, 8 (2) January, 12
(3) June,5 (4) August, 29
& IS gal e #e A € ?
1) 8 = ) 12 @
(3) 59 : (4) 29 srT

13. Eritrea is situated in ...........

(1) Europe (2) Africa

(3) Asia (4) South America
IREAT o 7 Rera 21

(1) F (2) st

(3) wfdvn (4) =feyor s
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14.

15.

16.

17.

18.

What is the Life Expectancy (in years) as per Census India 2011 provisional figures ?

(1) 70 (2) 72 (3) 65 (4) 67
HRA # ST 2011 @Y SfoH siidel @ IR Sftaw yearen (ad) @ # ?
(1) 70 2) 72 (3) 65 (4) 67

Who have been recently nominated to Rajya Sabha ?
(1) Sachin Tendulkar

(2) Rekha and Sachin Tendulkar

(3) Anu Aga and Sachin Tendulkar

(4) Rekha, Anu Aga and Sachin Tendulkar

g & ¥ g | i e wAra e man g 2

(1) |l AgeE

(2) ¥@r vg | agaas

(3) 313 MM Td W AgeHy

(4) X, 3 AT UG | dgea

frafofea ol § 4 gg o= gy -
(1) sifeed (2) et
(3) areitfds (4) frs

ffafaa st # |/ -9 9t $HFERY vieg &1 ygigard T8 R ?
(1) fspuear (2) fresear
(3) wETIrRIET (4) Swrd

rafafea oe8) 3§ 9§ s v @ Rudorie = o1 999 Hifvo
(1) FrEr (2) FER
(3) YHER (4) gaER

CJDEOT-2012/SET-Z/(B)
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19.

21.

23.

24,

e Ry v arew F Rawt w9 @ forg vt fRee gfiv

T 29 IR-ER R @ o *! AR 9 T B
(1) SR (2) wHET
(3) =&y (4) T

i Ry v arwm F Rea o @ @ fog w8 Rew g

WEH & a1 7 WRER 9I&] § fA9er & TBT B e b |
(1) T ) @
(3) w1 (4) Rm

The following sentence has an error in one of its part. The number assigned to the
part is the answer. Ignore errors of punctuation, if any. Mark the correct answer :

We are looking forward for good rains this year.
(1) looking forward for (2) we are

(3) good rains (4) this year

One of the following sentences is correct, While the rest three have some error(s).
Select the correct sentence :

(1) The accused admitted his guilt in the court
(2) The accused confessed his guilt in the court
(3) The accused agreed to his guilt in the court
(4) The accused accepted his guilt in the court

Select the correct option reflecting correct meaning of the word 'Dauntless’.
(1) Coward (2) Wavering

(3) Fearless (4) Compromising

Select the option which is a synonym of the word 'Nefarious'.
(1) Virtuous (2) Upright
(3) None of the above (4) Evil

CJDEOT-2012/SET-Z/(B) o



25. Select the option having meaning similar to the word ‘clumsy’.

(1) Ungainly (2) Tactful
(3) Attractive (4) Graceful
26. Slide sorter of Power Point is available on .................. menu.
(1) Insert (2) File (3) View (4) Edit
Power Point &1 Slide sorter BIEX ................ A R Iy g 7|
(1) Insert (2) File (3) View (4) Edit
27. The spelling dialog box can be involved by choosing spelling from ................ menu.
(1) Insert (2) File (3) Tools (4) View
Spelling ST W BN .....oooorvvenee ¥ ¥ Spelling &1 g1a Fwa MiAe far o waa
2
(1) Insert (2) File (3) Tools I(4) View

28. All worksheet formula :
(1) Manipulate values
(2) Return a formula result
(3) Manipulate labels
(4) Use the addition operator
o a@de wra P F & @ wva € ?
(1) Values & manipulate &xd &
(2) wrf &1 Fdon 2 &
(3) @d&af B manipulate X &
(4) addition 3TGReR &7 FIFT HXA &

CJDEOT-2012/SET-Z/(B) Pl



29. Documentation should include :
(1) Destination and users of the output data
(2) Source of input data
(3) Information on the purpose of the workbook
(4) All of the above
Documentation # =1 % & a1 wfde 2 ?
(1) 7Ta& (4§ NITYe el @ goir
(2) 9 3% 39Ye BT
(3) THYF P AHHS | AT FA
(4) Surad |4t

30. Getting data from a cell located in a different sheet is called .................... .

(1) Accessing (2) Referencing
(3) Updating (4) Functioning
0P FAT sheet F R cell & TET A BT oo, FEd B |
(1) Accessing (2) Referencing
(3) Updating (4) Functioning

31. Which of the following command is not available in Tools menu ?
(I) Auto text (2) Auto correct
(3) Auto summarize (4) Macro
Tools #] 9% A7 # & &9 command ASE 7&7 gt ?
(1) Auto text (2) Auto correct

(3) Auto summarize (4) Macro

CJDEOT-2012/SET-Z/(B)



32. Which of the following can not be used to create parallel style column ?

(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns
ey ¥ ¥ -1 SRR wisd @ Column &9 # gaim 8T S m S a&dr 2
(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns

33. What is the shortcut key for "subscript” the selected text ?

(1) Ctrl+ = (2) Ctrl +~

(3) Ctrl + Shift + = (4) Ctrl + Shift + -

Tufia AT B "subscript” A @ A shortcut T FH-H &t 2 ?
(1) Ctrl + = (2) Ctrl +-

(3) Ctrl + Shift + = (4) Ctrl + Shift + —

34. What is the shortcut key to Update Formula in a table ?

(1) F9 (2) Alt+F9

(3) Ctrl + F9 (4) Shift + F9

qa ¥ Wi oRe # @ R shortcut APl F-E e 2 ?
(1) F9 (2) Alt+F9

(3) Ctrl + F9 (4) Shift + F9

35. What is the shortcut key to "Undo" the last action in a document ?

(1) Cal+X (2) Ctrl+Y

(3) Ctrl+ Z (4) None of the above

e ¥ anfd ®rd B “Undo” &% @ fod shortcut anft s9-at &t @ 2
(1) Ctrl+ X (2) Ctrl+Y

(3) Ctrl +2 (4) SRIFd H§ § B 98

CJDEOT-2012/SET-Z/(B) P.T.O.
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36. A high speed, high capacity transmission medium that can carry signal from muitiple
independent network carrier is :
(1) Narrow band channel
(2) Voice band channel
(3) Broad band channel
(4) None

H ST NG, 9T &l &1 guRe "egs W fAfdw independent Network Carriers
HPT (signal) & S FFHe 2 ¢

(1) Narrow band channel
(2) Voice band channel
(3) Broad band channel
(4) SURIET A § B TE

37. URL stands for :
(1) Uniform Read Locator
(2) Uniform Resource Locator
(3) Unicode Research Location
(4) United Research Locator
URL faar wfiriravor 8 ?
(1) Uniform Read Locator
(2) Uniform Resource Locator
(3) Unicode Research Location

(4) United Research Locator

CJDEOT-2012/SET-Z/(B)



38.

39.

Machine codeis a :

(1) Low level language
(2) High level language
(3) Software language

(4) Compiler

(1) Low level language
(2) High level language
(3) Software language
(4) Compiler

What does OCR stands for ?

(1) Optical Character Reader

(2) Operational Character Reader
(3) Optical Character Recognition
(4) Only Character Reader

OCR f&waT dfdrafiaor 8 ?

(1) Optical Character Reader

(2) Operational Character Reader
(3) Optical Character Recognition
(4) Only Character Reader

The octal equivalent of 111010 is :
(1) 81 2) 72

a8 (Binary) %X 111010 &7 octal equivalent &1 & ?
(1) 81 2) 72

CJDEOT-2012/SET-Z/(B)
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41. What does .com domain represent ?

(1) Education domain (2) Commercial domain
(3) Network (4) None of the above
com S (Domain) &7 g9iar & ?

(1) Tqae /A (2) FHlaa WA

(3) T (4) SwiEd # |/ @p W@ T

42. Two kinds of main memory are :
(1) Primary, Secondary (2) Random, Sequential
(3) RAM, ROM (4) All of the above
T Wi (main memory) & Q1 YHR 47 & ?
(1) Primary, Secondary (2) Random, Sequential
(3) RAM, ROM (4) SR ¥

43. Firewall in a Computer Network is :
(1) the physical boundary of network
(2) an operating system of computer network
(3) A system deviced to prevent unauthorized access
(4) A web browsing software
F¥gey Aead # Firewall @1 &ar € ?
(1) Acas 3 Afas da
(2) Aea® FT HRFET (operating) RiweH
(3) UUITel! (system) &1 IIOIPT 9ga & a9 & forg
(4) Web Browser GFedaR

CJDEOT-2012/SET-Z/(B)



44. Computer size was very large in :

(1) First Generation (2) Second Generation
(3) Third Generation (4) Fourth Generation
FYEY FT AR aga a1 o

(1) ggelt 9t (2) T 9 A

(3) rad drf § (4) = 9 F

45. Digital systems are systems which :
(1) deal with digital information in the external world
(2) uses analog signals
(3) manipulate information
(4) handle information in digital form internally
Digital Rizes
(1) sl gfyar # RRed information deal &% &
(2) analog signals 9aT &Xd &
(3) information &T BYHR (manipulate) & &
(4) feR¥ea information @ AR® (internally) handle #3d

46. Which alternative does fill up the blank ?

oo Jo
(1) °@° @) |©

3) @ [ A

CJDEOT-2012/SET-Z/(B)

[

13

P.T:0),



14 ' 3
- e Rea wmm &) war & ?

0@‘1 oo
M o o @ [ofo\o

3) (4) A

47. Ravi starts from a point on his bicycle to ride 8 km to North then takes a left turn to
move 11 km. There after he rides 24 km Southward and finally turn to left to stop
after a ride of 11 km. How far and in which direction is he now ?

(1) 32 Km, West (2) 2 Km, South
(3) 16 Km, South (4) On starting point

MR 1 W ¥ o wEfre R SR A IR 8 Rl uw v ad e o @ ok 11 6
o 2| 98 | a8 24 fh <fqor A ok 7 wR a¥ q$ FW 11 ff ) T Tar B @®

@ fRem A e x 8 ?
(1) 32 &+, afdas (2) 2 f¥A, gféor
(3) 16 f&, afdor (4) AnfE @A W

48. Which diagram represents Sun(S), Planets(P), Earth (E) ?

(1) (2) @

@ (E{s§») CHOIOIO)

CJDEOT-2012/SET-Z/(B) (.



& (S), @l (P), 92t (E) & ®1H-a1 7 fFrefda aear & 2

M @ ©

¥olole

49. Choose the odd one :

(1) Chameleon (2) Crocodile
(3) Alligator (4) Locust
i g

(1) fefie (2) ¥R

(3) T 4 RS

50. What is equal to v384.16 =?

(1) 196 (2) 19.6 (3) 61.98 (4) 6.19
J384.16 =7 ® W TG B
(1) 196 (2) 196 (3) 6198 4) 6.19

51. To insert new slide in the Current Presentation we can choose :

(1) Ctrl+ M (2) Ctrl + N
3) Ctr1 + O (4) Ctrl + F
Current ¥5i2¥ ¥ ta 7R wgs # So & o v & 9 g yan o @ € 2
(1) Ctrl + M (2) Ctrl + N
(3) Ctrl +O (4) Ctrl +F

CJDEOT-2012/SET-Z/(B) P. T, 0.
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52.

53.

55.

A File which contains readymade styles that can be used for a Presentation is called :
(1) Auto Style (2) Template

(3) Wizard (4) Pre-formatting
ﬁﬁﬁﬁﬂﬁﬂ«@mﬁreadymademﬁﬁgﬁﬁm$%ﬁmﬁm§?
(1) Auto Style (2) Template

(3) Wizard (4) Pre-formatting

Power Point presentation is a collection of .............c........ :

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines (4) All of the above
Power Point ¥siee s # & fsar wus 2 2

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines (4) SR e Gt

Which is not the one of view options provided by Power Point to look at and modify
presentation ?

(1) Slide Show (2) Format Slide
(3) Slide Sorter (4) Normal

ff=r # | Power Point &1 Uoiee™ & 2@ 3R 9 & ford #19-WT view option
T E?

(1) Slide Show (2) Format Slide
(3) Slide Sorter (4) Normal

How can you stop a slide show ?

(1) Press the right arrow (2) Press Escape

(3) Press the left arrow (4) Press the down arrow
31 Slide Show &1 &9 AP FHd & 7

(1) T arrow @' gard (2) Escape Tard

(3) I arrow @1 TIR (4) Down arrow &I &4

CJDEOT-2012/SET-Z/(B) !
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56. Select the correct form of the verb from the options to fill in the blank in the following

sentence :
I will call you on phone when he .............. back.
(1) will come (2) comes (3) is coming (4) return

57. Select the correct option to fit in the blanks in the following para :

Letter writing is a bit difficult job. Famous letter-writers were very .............. . They
WIOLE ..oovvvrenenes letters which are read by people with .............

(1) casual, excellent, case (2) careless, difficult, attention

(3) serious, excellent, attention (4) serious, excellent, carelessness

58. Select the correct option to fill in the blank in the foUowiné sentence :

WHY G him yesterday ?
(1) you didn't meet (2) you haven't meet
(3) haven't you met (4) didn't you meet

59. Read the following passage and select the statement best supported by it :

Things in metropolitan India are gradually changing. Women are being recognised by
employers, particularly in corporate sector as temperamentally more suitable in this
age. Visit any advertising agency or ad-film maker's office, the male-female ratio
leans heavily towards the female population.

Statements :

(1) Women are heading most of the ad-agencies

(2) Women are believed to be more suitable to handle infotech jobs/ offices
(3) Only elite women join the corporate sector

(4) Male-female in the society is gradually changing

CJDEOT-2012/SET-Z/(B) P.T.O.
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60. Read the following passage and select the correct answer :

The first official results of Mexico's Presidential election, declared on 1st July 2012
showed Lopez Obrador with 31 percent of vote against 38 percent for Pena Nieto of
Institutional Revolutionary Party. When Obrador lost the 2006 presidential election,
he claimed fraud and organised mass protests. The president-elect pledged to focus
on energy, labour and tax reforms, and hoped to strike deals with his opponents to
take the country forward.

(1) Lopez Obrador has been elected President of Mexico
(2) Pena Nieto has been voted to power in Mexico
(3) Pena Nieto will organise protests to expose fraud in the election

(4) Obrador will introduce energy, labour and tax reforms

61. What is the short cut key to open the Open dialog box ?

(1) F12 (2) Shift + F12
(3) Alt+F12 (4) Ctrl + F12
Open /@ dfed @Wew @ ford short cut a1t #=-4 & 2
(1) F12 (2) Shift + F12
(3) Alt +F12 (4) Ctrl +F12

62. What are inserted as cross-reference in Word ?
(1) Placeholders (2) Bookmarks
(3) Objects (4) Word Fields
Word # #1199 cross-reference insert f&3 s & ?
(1) Placeholders (2) Bookmarks

(3) Objects (4) Word Fields

CJDEOT-2012/SET-Z/(B)
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Which would you choose to save a document with a new name ?
(1) PressCtrl +S (2) Click File, Save
(3) Click Tools, Options, Save (4) Click File, Save As
=1 # & document 1 A T F save I B ford BrF-a7 wAIT H AT & ?
(1) Ctrl +S @1 & (2) f&® File, Save
(3) @@ Tools, Options, Save (4) f&=® File, Save As

Which of the following do you use to change margins ?
(1) Formatting toolbar

(2) Page Setup dialog box

(3) Standard toolbar

(4) Paragraph dialog box

frefifed # & margin Jgem @ ford @ar warT & & ?
(1) Formatting ToTER

(2) page setup SIIET dfay

(3) Standard T@ER

(4) Paragraph SRIciT dfad

We can replace a font on all slides with another font using the option ?
(1) Edit — Fonts

(2) Tools — Fonts

(3) Tools - Replace Fonts

(4) Format — Replace Fonts

= 4 ¥ A9-9 Ao g @ wgS! A existing font ' TR font A replace b
ST HHaT @ 2

(1) Edit — Fonts
(2) Tools — Fonts
(3) Tools — Replace Fonts

(4) Format — Replace Fonts

CJDEOT-2012/SET-Z/(B) P.T.O.
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66. A person lent some money at 9% and the same amount at the rate of 10% for 2 years.

He earns a simple interest of Rs. 760. Find the total amount invested :
(1) Rs. 4,000 (2) Rs.2,000
(3) Rs. 1,900 (4) Rs. 3,800

TP Afdd A FY g9 9% P X A qAT I & 97 10% s Y = ¥ 2 af @ fow Sur
feam| 5@ 760 vo wERYT @S T g3 | AAY IFEA Fo e a7 @1 e far ?

(1) 4,000 To (2) 2,000 %o
(3) 1,900 To (4) 3,800 To

The list price of an article is Rs. 450. It is sold at two successive discounts of 10% and
5%. Find the sale price :

(1) Rs.395.25 (2) Rs.384.75
(3) Rs. 382.50 (4) Rs. 435

TP qw] B [ed 450 Bo fe@m mar @ fwe @l W Q1 ST ge 10% Yd 5% &
3 | Ry ey aant ¢

(1) 395.25 %o (2) 384.75%0

(3) 382.50 %o (4) 435 %o

A candidate secures 69% of the votes polled and wins the election by 570 votes. If
there are only two candidates and no vote has been cancelled, how many votes were
polled ?

(1) 1,500 (2) 1,800 (3) 5,700 (4) 6,900

Ua IHIEIR A US 7l $T 69% U $X@ 570 wAl W gAg ofar| afe 1 & Iufiear &
3R P N 7 & T g B, @ Ho R wdl B G feah @ 2

(1) 1,500 2) 1,800 (3) 5,700 (4) 6,900

CJDEQT-2012/SET-Z/(B)
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69. In a certain code MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that
code language ?

(1) MDLHRDR (2) OFNFTJT

(3) PGOKUGU (4) ODNHTDT

U% de 9T § MYSTIFY @& NZTUJGZ & %9 ¥ forar wimar 8, NEMESIS &9 ferar
SITQAT ?

(1) MDLHRDR (2) OFNFTJT

(3) PGOKUGU (4) ODNHTDT

70. Two cubes each of side 10 cm, are joined end to end. What is the surface area of the

resulting figure ?

(1) 500 cm® (2) 1,500 cm?

(3) 1,000 cm? (4) 1,200 cm?

9 9 ol @ &) a9 (99) US IR ¥ WRER S # | ¥ Ppfy B wad) & aur € ?
(1) 500 &’ (2) 1,500 ¥4

(3) 1,000 ¥4 (4) 1,200 &4

71.  Which among the following is the largest (area) Union Territory ?

(1) Puducherry (2) Lakshadweep
(3) Andaman-Nicobar (4) Daman & Diu
e & weR ge1 B R & et @ ?

(1) ggod (2) @y

(3) sieHE-FraER (4) @9 vd fy

CIDEQT-2012/SET-Z/(B) ‘ P.T.O.
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72.

73.

74.

75.

Which dynasty among the following did emerge the earliest to rule ?
(1) Tughlak dynasty (2) Sayyad dynasty

(3) Slave dynasty (4) Khalji dynasty

e 9o 3 wdues fFa @9 &1 o gan ?

(1) grers 3= (2) W@ a9

(3) <1 E 99 (4) Rassh 9w

How many times do we breathe at rest (in adulthood) per minute ?

(1) 20-25 (2) 72-75 (3) 13-17 @) 58
&9 (quen) am ot sawen # ufy e ot ar g o & 7
(1) 20-25 (2) 72-75 (3) 13-17 (4) 5-8

Name the capital of Canada :

(1) Toronto (2) Montreal
(3) Vancouver (4) Ottawa
FHATST B AT BT A9 qad1 -

(1) et (2) I
(3) ATEHR (4) 3iear

Which among the following is the smallest religious minority in India ?

(1) Sikhs (2) Christians
(3) Buddhists (4) Jain
HRA ¥ 99 BT Jcq9@md 9E () e § sfa-ar & ?
(1) fa ) =
(3 d= (4) W=

CJDEOT-2012/SET-Z/(B)
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Select the antonym of the word "Serviceable' from the options given below :
(1) Unservicable (2) Inservicable

(3) Unserviceable (4) Nonserviceable

Select the correct antonym of the word 'Mysterious' from the options given below :
(1) Straightforward (2) Puzzling

(3) Hidden (4) None of the above

Select the option with correct spelling of the word.
(1) Deliberatly (2) Delibrately

(3) Deliberetely (4) Deliberately

Select the option which is antonym of the word 'Auspicious’ :
(1) Unauspicious (2) Non-auspicious

(3) Inauspicious (4) Favourable

Select the option with correct spelling of the word :
(1) Acquiscence (2) Acquiescence

(3) Acquiesence (4|)_ Acquisence

Name the capital of Assam :

(1) Guwahati (2) Dibrugarh
(3) Dispur (4) Jorhat
3 B IS BT ATH q@T

(1) Taere (2) Revme
(3) g (4) SirErEe

CJDEOT-2012/SET-Z/(B) PT.0O
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82.

83.

85.

" Which river(s) flow through Iraq ?

(1) Nile (2) Tigris

(3) Euphrates and Tigris (4) Nile and Tigris

B A PA-A TR FEA & ?

(1) H= 2) feRa

(3) gw¥ew wd feiRe (4) s g feaRa

In which year Reserve Bank of India was created ?

(1) 1921 (2) 1935 (3) 1947 (4) 1955
T Rad & e ad § gy o ?

(1) 1921 (2) 1935 (3) 1947 (4) 1955
One gram of weight is equal to ........... milligram.

(1) 10 mg (2) 100 mg

(3) 1000 mg (4) 10,000 mg

& U AR ..o (AT B SRTER BIAT B |

(1) 10 fiwrmo (2) 100 fammo

(3) 1000 fmmo (4) 10,000 fAzmo

Who picked up IPL-5 cricket championship ?

(1) Chennai Superkings (2) Mumbai Indians
(3) Kolkata Knight Riders (4) Delhi Daredevils
Igofoyeio-5 fle wfcafiar ferea= ofieft ?

(1) =7 g o @ e &

(3) Pl wFE FEH (4) 2Eh I ;s

(1) fr=h 3= 3y =elt 7E |
(2) ofrh g | =elt 7|

(3) AR oo |/ & TR T
(4) e wd | & ol 7|

CJDEOT-2012/SET-Z/(B)
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M fo@ g $ ar Ul # dcer FAMER forar A 2| 39 A U@ ug, a@g @ dad
4, FRga B FRyga 1z # vy :

R 7 g8 sy o= forar @ 5 aw Renm @ &= o @ g & Ae0 @ fav smaga
ol

(1) 8R 7 7 s o= forr 2 &

(2) @& R 99 @R oF @ gREr @
3) A & forg

(4) AT FXM

frafafen 7ol & e 3Hd 9 Ry 7y SR 4 | w9 I Bty ¢

e & sl #o 9o forg &t & ot Gl A BiE @ Y Qo g W | waAl B 7w
@ 19 PR BIE AT 2, A IUB! d ANT & HEqH PR GHd & ol g¥ WA 7 377 E 2,
7T Fo @1 ?, 38 B §Y & IR ART 989 T § T 2|

S e ¥ 6 99 & HeRS B € 7

(1) vgfa (2)

(3) ofta= (4) W

wEl 3red A Reew i

gRET T ~

(1) ST (2) aRgrrET

(3) weur (4) @ Pt A
fisfh St &

M 7P TR B AT B 3P BY UK & | $H I Y g BT 979 B

(1) e @) e

(3) ufaoh (4) refor

wE st aren ey gy

CELL

(1) o (2) IFH

(3) gy (4) sraer
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92.

frfofea el 4 & o= ws agg 2 7
(1) waf¥erer (2) T
(3) =af¥ 4) g=R

fpafofga wsai % & d9-T1 v T W B gAY FE R ?
(1) 3mewR (2) =@
(3) faffgsr (4) 995

frfafed vl 3 3 ‘R o 3 vhonis o &1 997 v -

(1) srmgfee (2) sfre
3) sraRs (4) »fre
w8 o aren Rwes gfag -

ﬁ-@ o

(1) T (2) wOR
(3) IR (4) I

Which of the following is not an exadiple of a value ?

(1) 350 (2) May 10, 2012

(3) 57% (4) Serial Number 50771
e % & PF-a1 value @1 SaTEvYr 787 & ?

(1) 350 (2) May 10, 2012

3) 57% (4) Serial Number 50771
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97. Which of the following formulas will Excel not be able to calculate ?
(1) =SUM (Sales) - A3
(2) =SUM (Al:A5)+05
(3) =SUM (Al : A5)/(10 - 10)
(4) =SUM (A1: A5)-10
P % ¥ Excel @21 BTaT calculate 78 @R Grr ?
(1) =SUM (Sales) - A3
(2) =SUM (A1:A5)+05
(3) =SUM (A1 : A5)/(10 - 10)
(4) =SUM (A1: A5)-10

98. Which of the following is an absolute cell reference ?
(1) 1Al 2) $AS1
(3) #a#1 @) Al
fA=1 % | HF-41 absolute cell reference & ?
1) 1A ) $AS$1
(3) #a#1 (4), Al

99. To view a cell comment :
(1) Click the edit comment command on the insert menu
(2) Click the display comment command on the window menu
(3) Position the mouse pointer over the cell

(4) Click the comment command on the view menu
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U cell B fRewfora} &1 Iwa & ford o § 9 @ v & 2

(1) Insert # W &R edit comment &1 f¥e® wd &
(2) Window A W &R display comment &1 e &= &
(3) Mouse @1ge &1 cell W &Y &

(4) View ¥ W comment WS & fFrs s &

100. Concatenation of text can be done using :
(1) Apostrophe (') (2) Exclamation (!)
(3) Hash (#) (4) Ampersand ( &)
Text &1 =1 § 9§ f&¥ gRT concatenate f&a1 &7 waar & ?
(1) Apostrophe (') (2) Exclamation (!)

(3) Hash (#) (4) Ampersand ( & )
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